Write a paragraph proof.
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Write a flowchart proof.

Given: AC =2 EC and m||n

Prove: AABC = AEDC LDECZ LBAC
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Write a paragraph proof.
Given: ZABC 2 /DEF, BC || EF, AC= DF.
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Write a two-column proof.

Prove: AABC is congruentto ANDEF
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Determine whether there is enough information to prove that
triangles A VWX and AYXW are congruent. Explain.
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Given: ZL = £J, KJ ||[LM

Write a proof (you can choose the type)
Prove: ZLKM = ZIMK
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GETE FQ wHE AFQS=ERS Write a proof (you can choose the type)

Prove: ZP= /R
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iven that polygon ABCDEF is a regular hexagon, prove that AC = AE, Write a two-column proof.
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